Example:

According to the example table below, the combination with ID 1 was used, which 1s composed of
customers 104 and 1335, thus orders to be delivered to those two customers are sent in the same truck.
Also, CombID 5 was used, which 1s composed of customers 203, 189, and 138, CombID 6 was also used,
which 1s composed of client 267 only, and 1t was sent through platform 4. Note that the combination ID
will be assigned by yvou, and can be quite arhitrary, as long as it 1s unique.

VSTEL CombID KUNNE Platform
PRO1 1 104

PRO1 1 135

PRO1 3 203

PRO1 5 189

PRO1 3 138

PRO1 & 267 4




